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7 100kN/mM%EBZ % - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - ~ -|3mZEi#BR D -~ - - -
s 1.00 | 0.00 ~ 477 59.50 | =S | 000 ~ 0.00| 1.71 917 st 1.00 | 6.00 ~ 6.00 59.50 | =hH | 5.00 ~ 6.00| 1.71 917
2 100kN/m%EBZ5| 100|000 ~ 143 121.76 |3mEHBZD -~ -| 100kN/M%#82% | 1.00 | 11.41 ~ 1800 121.76 |3m%iBZ% -~ - - -
s 1.00 | 1.43 ~ 922 100.00 | =nst | 000 ~ 922|218 11.66 st 1.00 | 5.00 ~ 1141 100.00 | =nLst | 6.00 ~ 1800| 2.18 11.66
3 100kN/mM%E#BZ5 | 1.00 | 000 ~ 204 131.65 |3m%EiBZ D ~ -1 100kN/mM%&#z25 | 1.00 | 11.09 ~ 21.62| 131.55 |3m%E#z5 -~ - - -
s 1.00 | 204 ~ 982 100.00 | =nLSY | 0.00 ~ 9.82| 2.62 13.561 zh st 1.00 | 6.00 ~ 11.09 100.00 | =nLst | 6.00 ~ 2162| 2.62 13.61
4 100kN/m%E#BZ5| 100|000 ~ 183 12813 |3mEHBZD ~ -| 100kN/m%i#82% | 1.00 | 11.40 ~ 21.21 12813 |3m%E#BZ5 -~ - - -
s 1.00 | 1.83 ~ 9.61 100.00 | =nLSY | 0.00 ~ 9.61 | 249 13.30 zh st 1.00 | 6.00 ~ 1140 100.00 | =nLst | 6.00 ~ 2121|249 13.30
5 100kN/m%E#BZ5| 1.00| 000 ~ 032 10467 |3mEHBZD ~ -1 100kN/mM%&#z25 | 1.00 | 11.16 ~ 1218 104.67 |3m%E#z5 -~ - - -
s 1.00 | 0.32 ~ 810 100.00 | #nLSy | 000 ~ 810 | 2.03 10.87 Zhn st 1.00 | 6.00 ~ 1116 100.00 | =nLst | 6.00 ~ 1218| 2.03 10.87
P 100kN/m##x5 | 1.00 | 0.00 ~ 041 106.01 |3m%EiBZ5 ~ -| 100kN/M%#82% | 1.00 | 1092 ~ 1218 106.01 |3m%EiBZ% -~ - - -
s 1.00 | 041 ~ 819 100.00 | 0S| 0.00 ~ 819 | 2.06 11.03 Zh st 1.00 | 6.00 ~ 1092 100.00 | =nLst | 6.00 ~ 1218 2.06 11.03
7 100kN/mM%BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mEiBR D -~ - - -
ThLst 1.00 | 0.00 ~ 4.77 59.47 | =ns | 000 ~ 477 1.75 9.35 Fhst 1.00 | 6.00 ~ 56.00 59.47 | NS | 5,00 ~ 600\ 1.76 935
3 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/mi%#8Z % ~ -|13mFEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 6.84 86.56 | Tns | 0oo ~ 684 1.72 922 Fhst 1.00 | 6.00 ~ 840 86.66 | TnLS | 5,00 ~ 840\ 1.72 922
9 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/m%#8Z % ~ -|13m#EFEZ S -~ - - -
ThLst 1.00 | 0.00 ~ 7.36 93.81 | =nst | 0oo ~ 736)| 1.74 9.52 Fhst 1.00 | 6.00 ~ 9560 93.81 | #nLS | 65,00 ~ 9.60| 1.74 932
10 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/mi%#8Z % ~ -|13m#FEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 6.69 84.46 | =ns | 000 ~ 669 1.88 10.08 Fhst 1.00 | 6.00 ~ 840 84.46 | FnLS | 5,00 ~ 840\ 1.88 10.08
11 100kN/ Mm% Z 5 - -~ - -|3mE#ER S ~ -| 100kN/mi%#8Z % ~ -|13m#EFEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 6.69 84.44 | =ns | 000 ~ 669 1.88 10.09 Fhst 1.00 | 6.00 ~ 840 84.44 | FnLS | 5,00 ~ 840\ 1.88 10.09
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
zhs ~ st ~ ZzhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImERZD ~
zhs ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ st ~ Zhust ~




